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4. �
��
1. ��
�	 � ���	���
��	 ������
	�� � ��	��� � � � ��
�� b ��, ��
���: 

� � ���	� 	� 36 . 8 + 8 . 69, � b � 	�������	��� ���
� �� ����	������  

70 000 – � = 4 140 + 735 : 7. �������� 	� ��
�� 
�������� � ���	� �����
���� 	�

������
	���.   7 �����

��������: � = 8.(36 +69) = 8.105 = 840     2 	. 
 70 000 – � = 4 140 +105       1 	. 

 70 000 – � = 4 245        1 	. 
b = 70 000 – 4 245 = 65 755       1 	. 

�����	� � ����� �� 840 � = 8400 
�      0,5 	. 
�����	 �� 
��	� ��
�� � ����� �� 2.65 755 = 131 510 �� = 13 151 
� 1 	. 

�������	� �� 	���������� � 8400 + 13151 = 21 551 
�   0,5 	. 

���������: ��� � ��������� 	��������� ������ ��� ����������	�, �� ����� ������
����	�
�� �����, 
� �� 
���	 	����	� �� �����	� ������
����. 

2. � ���� 	� 2010 ��
�	� � 
�� ����
	� ���
�  � ! "����
� ���� 52 536 
#$�, �

� ���
 � – � 13 647 ��-��
��. � ���� 	� 2011 ��
�	� 1134 "���
� 	� ���
  ��

�����
�
� � ���
 !, � 378 "���
� 	� ���
 ! �� �����
�
� � ���
 �. %����� ����� 	�

"���
��� 	� ���
�����  � ! �� �����	�
. ��
�� �� ��
� "���
��� 	� ����� �� �����

���
� � ���� 	� 2010 ��
�	� � � ���� 	� 2011 ��
�	�?    

      7 �����

��������: 
 52 536 – 13 647 = 38 889 ��	��� � ���
 � � ���� �� 2010 �.   1 	. 
 38 889 + 378 = 39 267 ��	��� � ���
 � � ���� �� 2011 �.   1 	. 
 52 536 – 378 = 52 158 ��	��� ���� � ���
���	� � � � � ���� �� 2011 �. 1 	. 
 52 158 : 2 = 26 079 ��	��� � ����� � ���
 � � � ���
 � � ���� �� 2011 �. 1 	. 
 26 079 – 1134 = 24 945 � 24 945 + 378 = 25 323 ��	��� � ����� � ���
 � � ���� �� 2010 
�.          2 	. 
 26 079 + 1134 = 27 213 ��	��� � ����� � ���
 � � ���� �� 2010 �.  1 	. 



3. &� ������� �� 1 
� 9 �� �����	� ��� ���
��	� ����� �, b � 	. ������	� ��

������ ��������	� ���
�, ��� ����� �� ����� #������� � ����� �����.  

�) �������� ����� 	� 	�����	��� ��������	� ���
�, ��� ������ 	� ������� �, 

b � 	 � 19.       4 �����

�) �������� ����� 	� ������� �, b � 	, ��� ������ 	� 	�����	��� ��������	�

���
� � 2886.       3 �����

�������� ���		� 	�� �!���� �����, ���	� ����	 
� �� �����"��	 �  �!��	� �, b � �: 
, , , , ,abc acb bac bca cab cba         1 	. 

�) �����	 �� �
��� �	� �� ���		� ����� � ����� �� 2.19 = 38. #���� 8  1 	. 
� ����� 3 ��"�. �����	 �� 
���	� �	� �� ���		� ����� � 38 + 3 (��"�) = 41. #���� 1  
           1 	. 
� ����� 4 ��"�. �����	 �� �	�	� �	� � 38 + 4 = 42. ���
���	���� �����	 � ����� �� 4218 
          1 	. 
�������	�: 
	� � ��
���� ����� ������ ��� ��������� �� ���� ����� ���� ���	�. 
�) ��������, �� "
������	 ���� ��  �!��	� �, b � � � ����� �� 26  2 	. 
������� �����	 ��  �!��	� �, b � �, ����� �� 13     1 	. 
�������	�: 
	� ������� � ��������, �� � + b + � = 13, �� ���� ����� ���� ���	�. 


